Which of the following household items is basic?
A. baking soda

B. grapes

C. bananas

D. water

TN

 How many protons does an atom of silver contain?
A. 47
B. 108
C.61
D.60

(ON

Which of the following compounds are organic?

I Na;COs
1l CH3CH,CH3z
I CH3OH

A. land Il only

B. Il and Il only

C. 1,1, and llI

D. None of these compounds is organic.

An atom is found to have seven valence electrons. To which family of elements in the
periodic table does this atom belong?

A. noble gases

B. halogens

C. alkaline earth metals

D. alkali metals

What is the nucleus of any atom, except hydrogen, made up of?
A. only neutrons

B. only protons

C. equal numbers of electrons and protons

D. neutrons and protons
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What is the name of the compound Fe,O,?
A. iron(IIl) oxide

B. iron oxide

C. iron(Il) oxide

D.iron(Il) trioxide

. Which of the following is a property of a base?
A. It has a sour taste.
B. It turns litmus paper red.
C. It tastes bitter.
.1t has a pH less than 7.




What is the name of the compound PbS,?
A. lead sulphide

B. lead disulphide

C. lead(II) sulphide

D.lead(IV) sulphide

Which compound has no covalent bonds?
A. Na,S0,

B. KCl

C. KCIO,

D.CH/CI

What is the correct formula for the compound that contains magnesium and phosphate
ions?

A, MgPO,

B. Mg PO,

C. Mg,(PO,),

D. Mg (PO,),

Which name and formula match correctly?
A. magnesium fluoride, MgF,

B. sodium sulphide, NaS

C. aluminum iodide, Al(JO)),

D.iron(Il) oxide, FeO,

12 | Which is the formula for aluminum carbonate?
A. AlC,
"D B. AlCO,
- C.ALC,
D.AL(CO)),
13 | Which of the following sets of coefficients will balance the following skeleton equation?
AICIL, + K — KCl + Al
AL,
(| B2se1
C.1,3,3,1
D.1,2,3,1
14 | What is the charge on the plutonium atom (Pu) in the compound Pu,0,?

A 3+
B. 4+
C.5+
D. 6+
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What are the coefficients, from left to right, that correctly balance the following equation?

__Sa(NO,), + ___K,PO, = __KNO, + __Sn,(PO,),

A 3,4, 12,1
A B.3,3,6,1
C.6,3,4,2
D.6,4,2,12
16 | Whatis the name of PbO,?
A. lead(Il) dioxide
:8 B. lead(IV) oxide
, C. lead dioxide
D. phosphorus boron oxide
17 | What s the correct formula for aluminum hydroxide?
A, ALOH
C/ B. AIOH,
C. AI(OH),
D.Al(OH))
18 |. What are substances with a pH above 7 considered to be?
A. basic
}L\ B. acidic
j C. salty
D.neutral
19 | Which is not a characteristic of acids?
A. bitter taste
/\ B. turn litmus red
/{% C. react with bases to form salts
D.react with active metals to form H, gas
20 | What are the coefficients, from left to right, that correctly balance the following

equation?

__GH A+ ___ 0,5 ___CO,+__H,0

OO w»
P
~
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21 | Write the formula or name of the following compounds.
(a) iron(III) chloride "”@ (“ k 3
Bl \ ST
(b) ammonium phosphate ( N HH / vO 4
(c) dinitrogen trisulphide No S3
(d) PO, ¢ JWZ; 0 h og;@ \fx orevs ae ca o %(d(i
(&) Na,SO, Sodiom Sl fate
¥ : ] P [# ) I
1)Type S W'\CS(Q 3 Li+ FeBr; = iw L %ic’”‘ ¢ e
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2) Type Ncd Base A RbOH+  H804> X H.0 ¢ Kby S0y
3) Type Cs;x{vi\/)oquﬁw\ __ C4Hs + ﬁ 02> mjw COL £ ML MZ« O

4) Type %“{?l@ D KBr+_ znCh> 2 KO+ ZabBr
Reple

5) Type Dﬁi&&{ﬂ\o i PC13 9 R %BQ & o < \2

6) Type %x{vxi&f\m& 02 +. & Ca> WM%W Co O



